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AQA AS Biology exam practice answers

10 Surface area, volume, gas exchange and transport

1
(a)
Degree of attraction (or similar wording). 

[1]

(b)
98%. 

[1]

(c)
The percentage saturation is 75%, so the percentage of oxygen released is 23%. 

[2]

(d)
(i)
The shape would be the same. 

[1]


(ii)
The position of the graph moves to the right. 

[1]
2
(a)
Volume of water lost, time and leaf surface area. 

[3]

(b)
Temperature, humidity and wind/air movements. 

[1]

(c)
The hairy one. Plus any two explanations from:

· the hairs trap humid air/protect the diffusion shell

· the hairs minimise the water potential gradient

· because the hairs reduce evaporation 

[3]
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